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QUESTION 1

What are the options to node.startup in the iscsid.conf file? (Choose TWO correct answers.) 

A. login 

B. initiate 

C. manual 

D. discover 

E. automatic 

Correct Answer: CE 

 

QUESTION 2

Which archive format is used to create an initramfs image? 

A. gzip 

B. tar 

C. RAR 

D. cpio 

E. bzip2 

Correct Answer: D 

 

QUESTION 3

Which of the following is a CD-ROM filesystem standard? 

A. OSI9660 

B. ISO9660 

C. SR0FS 

D. ISO8859 

E. ROM-EO 

Correct Answer: B 

 

QUESTION 4
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A system with SysV-init has a service installed called apache2. Which file controls the start and stop of this service and
is referenced by the various runlevel directories? 

A. /etc/init.d/apache2 

B. /etc/rc2.d/70apache2 

C. /etc/rc2.d/apache2 

D. /etc/rc2.d/apache2.start 

Correct Answer: A 

 

QUESTION 5

Due to extreme system use, a Linux system requires some additional swap space. To initialize 5GB of additional swap
space, which combination of commands should be used? 

A. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; mount /tmp/swapfile 

B. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; swapon /tmp/swapfile 

C. dd if=/dev/zero of=/tmp/swapfile bs=1024 count=5120000; mkswap /tmp/swapfile; swapon /tmp/ swapfile 

D. touch -5G /tmp/swapfile; swapon /tmp/swapfile 

E. mkswap /tmp/swapfile 512000; swapon /tmp/swapfile 

Correct Answer: C 
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